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Calculus | 2nd partial
Quiz # 1B
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I. Circle the right answer. (5 point each)
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Il. Answer the following questions.

1. The concentration of a drug in the bloodstream is given by:
C =870-21". Where tis measured in minutes. Find the rate :
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a) Find the values of “x” where the functio
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11, Find the derivative by definition of the following function: (15 points)
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IV. Find the derivative of the following
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b) f)=7x+2-301-55")° (15 oints) § 37 2

= A A
(3x+2)"3 - 3(1-5x?)*

Zlaxa2)™ _ g(1-5x2)

FEx2Y %, (3) - 1801-6¢7) - (-10Y)

F w2y %3 4 1g0x (1-5x 7Y

¢) f(x)=5(6x~9x")’ (10 points)
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